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JNV STATE ddIcd fagATIT 2026 FETT -6 New HEHAdT Batch Start

, (a1, 3,0,8, 43X 1 3(H & =t 5

C?\ﬂzii\}\_eﬂ ) oﬁ g.c ‘-;ﬂ‘ ”
a4 égw‘ — _ ! o Elll

o (What will be the mallest)5-digit number

EQ_LQ@ bl made up of the digits 3,0,8, 4 and 1?)

T 034g (A) 10843

| \4C) 10348

(B) 10834

(D) 18034

IHOF FIEHF F T 37 daX 7602310280 9T IS Y



STaTE] dAdIed fagATad 2026 FHETT -6 New HHdT Batch Start

@ 3.003 x 5 + 0.0124 + 5.03576 &I
AT A G (ST AT IHTAT &-

® @ @ ‘
(Simplifying 3.003 x 5+ 0\0134 + 5.03%76
gives|approximatgly)

IBXSH 0 45 A1) 20

1S+0+5s (2) 25
IS+S = (3) 30
(4) 15

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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A8 A4y ﬁa'znrw 2026 H&IT -6 New B IdT Batch Start

I T3 GUAHAT A FIATE? (

8@.@1 What is the decimal equivalent of 1—?)

| (JNV 2005)
1+=

A0 & (1) 1.62
’j, | +.63< (2) 1.58

10 @ (3) 1.622
. S
/(!g/ \~(zt) 1.625
=
IHOF FIEHF F T 37 daX 7602310280 9T IS Y




TRUDI0N4) (3x5xa-3+2x1+555) (TS T 3w

(The@in the (3x5x4-3+2x1+555)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




STaTE] dAdIed fagATad 2026 FHETT -6 New HHdT Batch Start

(o) PafiRe d el g s S
27 (S1.9.9.7. 1991)

(Which of the following fractions i€ not equaljto
the other three?)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




CI‘.“I‘I\"SHS ‘a
g = 37000 (QGDW —qﬁ?r ?[ T HMT_37000 T I
C.P 3@ 3700 ¥ & g3

o = 370, U§,,1%mma’rs#_j_—djrw

= 37000 (dAI t llldrcﬁastecl " nﬁCh;rl'ae goro%S
and later sold it at a profit of Rs

|q ¢ = 45000 If he had solq that machine for Rs 5&000 how

St much{Tore profit would he have made?)

“ (%) 4300 3.

TR ZSPTcp Q000 (2) 5300 %

OOQ
o (3) 4200 3.
\7‘@63‘; 30 (4) 5200 3.

IHOF FIEHF F AT 37 daX 7602310280 9T TFIFH FY
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.!Hs\! STATeY dAdied ﬁ?ﬂﬁﬂl’ 2026 &M -6 New Hbldl Batch Start

© (Q7) IR & T 5AF Hen A

o FT & 9, ar SHHT(IRAT) g

| 1@) (If each side of a square is doubled, its

ter will be)
’ qurq-TqﬁdT \47( ) perlme
7 =y AA) 27T (2 times)

=0) (3)33131 (3 times)
(C) 4 91T (4 times)
(D) 8 [T (8 times)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y




AT ddicyd ﬁﬂ'ﬂﬁ'ﬂ 2026 &I -6 New HWbeldl Batch Start

'50 % ﬂ%fw?lé' .r:1[:EE = .lrx. Tgr%ﬁl'?mﬁ-r

e v
""!’

onday (FTHET) 9999 Y\ |6
Tuesday (=) | &2 &2 =&Y =%
Wednesday (930 | g2 e@e@e2 SYU=0
Thursday (o0 | S @262 — W11 < | (

Friday (o0 | D @e@e@e2e2 0xU-QY
Saturday A=) 9 T~ L‘

sunday Ry | 22222 -0 -
(A) 112 38 (C)11 (D)16

IHF FEFN F AT 37 F97 7602310280 T HIF FY




( Two complementary angles differ by 18°
The larger angle is?)

F8=90  |xa=ze3¢ (A) 50°

4648 =90 X (gse
(84321 :%8 (B) 54°
XR=90-} o
BR=7% (D) 60

IHOF FIEHF F T 37 daX 7602310280 9T IS Y



JNV STATE ddIcd fagATIT 2026 FETT -6 New HEHAdT Batch Start

.,..,.,“ Vla
i How many numbers are there

("‘“""7") between 50 and 200 which are multiple of
W—; CT@L\Q) E“aJ @ both 2 and 7?
50 311X 200 # e Y fohc=it GEATT & A

1950 2 31X 7 QAT Y IO B2
‘4’\ K 00 al 20 (A) 10
R T (B) 12

(€) 11

10 (D) 13

IHOF FIEHF F AT 37 daX 7602310280 9T TFIFH FY
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